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Question Shuffling Allowed : Yes

Question Number : 1 Question Id
Correct Marks : 1 Wrong Marks :

: 7336879486 Question Type : MCQ Option Shuffling : Yes



In which of the following complex pairing energy 1s greater than the
crystal field splitting energy (Ao)

& 208 TIS" D WoFRoOL 23 HOB 3§, DYBE FG I 3§ £
IS 0TP GotIA.

Options :

[Fe(CO)s]

1. ®

[Fe(Cl)e]™

2.

[Fe(CN)s]™

3. %

[N1(CO)4]

Question Number : 2 Question Id : 7336879487 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The stability of the secondary structure of proteins 1s due to?
TAS o dog) dBab Joeyee ROSIBNIL (1) SPEF0?

Options :
Salt bridges between charged side chains of amino acids.
RS QPO B S0l VDL TS .

1. ®

Peptide bonds between amino acids.
L« OOT B0 G Gk PDRE LG .

Disulphide bridges between cysteine residues.

e R 06 €506 & ::agba TED.
EJ G

Hydrogen bonding between the C=0 and N-H groups of peptide bonds.
4 v C=0 208030 N-H 2065 €060 3°E 20 2069:00.

Question Number : 3 Question Id : 7336879488 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

Diel’s Alder reaction 1s

&5y 8026 506
Options :
Thermal [2+2]-Cycloaddition reaction.
[2+2] €550 DVOD VoSN LS.

Photochemical [4+2]-Cycloaddition reaction.

[4+2] 5Pl dHead ‘éaose_)éc:ﬁ{j?g :

2. %

Thermal Supra-Antara [4+2]-Cycloaddition reaction.
[4+2] S-A &5 SV0D VoSO ISy

3. %

Thermal Supra-Supra [4+2]-Cycloaddition reaction.
[4+2] S-S &3 DAt Dogerddw.

4.

Question Number : 4 Question Id : 7336879489 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The smallest monosaccharide 1s

08 D) DS PEBE

Options :

Arabinose
1. %

Fructose
2. &

Glyceraldehyde
3.

Glucose
4. %

Question Number : 5 Question Id : 7336879490 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



In paracetamol synthesis from acetylation of 4-aminophenol
4-29208 DTS BVBTRD G[S” DB0ATES VoFaes & §od Dot

200000.

Options :
The OH group 1s acetylated preferentially over NH,.
OH (575 NH, (75 £0) 0008 eSS eodBTad & dre" ko,

1. ®
2. ¢
The NH, group 1s acetylated preferentially over OH.
NH; 5 83) OH (70 £0) 0008 s 0B8RS & e .

3. %

OH and NH, group are acetylated with same rate followed by deacetylation
Df NHg_
OH 206030 NH; Bocoar 2a Fordgad 965e” 37¢5° NH, (50 &

0DBTHD 0.

4. %
OH and NH, group are acetylated with same rate followed by deacetylation
of OH.

OH 506030 NH; Sochoar 2a Frrdad o65es” 305" OH grd ¢

02BSND 50O

Question Number : 6 Question Id : 7336879491 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which of the following reaction enantiomers are formed.
& 300 uﬁd595° D06y DEYERD.
Options :
Addition of methylmagnesium bromide to acetophenone.
QoGS 01 00 TRE BAED VS DI © B6sy VoLwRD W,

1. %



Addition of methylmagnesium bromide to acetaldehyde.
DFES Do) 030 ETRE B S AIPE © B DoERID Y.

Addition of methylmagnesium bromide to benzaldehyde.
oGS 20 2030 g'DE DB Boares AIPE © 6 DL LSS,

3.¢

Addition of methylmagnesium bromide to acetonitrile.
DS 207 2080 TROE B eES” DEBES © B0 DoSLD Ty,

Question Number : 7 Question Id : 7336879492 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Hybridization of Ni in [N1(CO)4]
IN1(CO),] ¢5° Ni B0E), FTREENS

Options :

SP*d

dSP?

2. %

g

3.¢

SP*d

4.%

Question Number : 8 Question Id : 7336879493 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Electric charge 1s passed through two electrolytic cells containing AgNO;
and CuSO4 1n series, 1.08 gr of silver 1s deposited in AgNOs cell. Amount

ot copper deposited in CuSOy4 cell 1s (atomic mass of Ag 1s 108 amu and
Cu 1s 63.75 amu)

303 &5 5D DS DEE 00K 06 PGS IS TOE grawros S
DeFEOR DD IDE . 1.08 g Db EHRHG. 5506 DS oer0
e5° Dé:gm@s o206 2Gan (atomic mass of Ag is 108 amu anﬂ Cuis
63.75 amu).

Options :

1.08 ¢

Question Number : 9 Question Id : 7336879494 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following molecules will NOT give a Microwave spectrum?
& 800 IS B PEDD HEDETV) RO,

Options :

H,

1. ¥

HBr
CO

HF

4. %

Question Number : 10 Question Id : 7336879495 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

The commonly used noble gas mn airships 1s?
Te030 FE 5° &DMBIA0TD TPaiVD).

Options :

Ne

1. ®

Xe

He

3.9

Question Number : 11 Question Id : 7336879496 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The chemical formula of Brown ppt formed when ammonium salts treated
with Nessler's Reagent

5‘@5 SPEEA0 SOOI L9 0 VA0 6&3@55 néd?séé Ddbc.‘,a 09350

S“GJ&U“
Options :
KgHgL;(NH 2)

1. %

HgO Hg(NH)I

2.9

KngI:;

3. 8

He(NH,)I

4. %

Question Number : 12 Question Id : 7336879497 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



In a first-order reaction, 50.0% of a compound decomposes 1n 6.93 min.
What 1s the rate constant of the reaction in min™.

DG §0°08 BB’ 6.93 IS’ 50 % 5] QPGAND 3 5G] AL,

e ?gmoso min?! e5°.

Options :

0.02

1. %

0.01

2.8

0.1

3.¢¥

0.0301

4. %

Question Number : 13 Question Id : 7336879498 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In Proton NMR spectrum of butanone contains
20T G308, TP DY 0610&" €1 0B D ) Sy DB,
Options :
Singlet (6H) and triplet (2H)

1. %

singlet (3H), triplet (2H) and quartet (3H)

2. %

singlet (3H) , quartet (2H) and triplet (3H)

3.¢¥

Four singlets
4. %

Question Number : 14 Question Id : 7336879499 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The following heterocyclic compound acts as diene in Diels-Alder reaction
& $08 D VDL FHo Gy 306 BE§S” D TP DIABAKVKL.
Options :
Pyrrole

1. %

Thiophene
Pyridine

Furan
4.9

Question Number : 15 Question Id : 7336879500 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following boranes is a nido-borane?

& 200 TIS° VB DE 5°3S

Options :

L BsHs
- B4H,o

B>Hs
®

3.

BGHIO

Question Number : 16 Question Id : 7336879501 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The reaction of [PtCly]* with NH3 gives rise to
[PtCLy]* 08050 NH; 0655 ©96{85° D6\ o08.

Options :

[PtCl4(NH3)g]3_

1. %



trans-[PtCly(NH;)s]

[PtC1,(NH;)s]

cis-[PtC1,(NH;),]

4.9

Question Number : 17 Question Id : 7336879502 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Optical activity 1s not exhibited by
& S0BTIS" BIS” e FrcsyBjo e DE.

Options :

Octahedral complexes
1. *

Tetrahedral complexes
2. ®

Square planar complexes
3.

Octahedral complexes and tetrahedral complexes
4. %

Question Number : 18 Question Id : 7336879503 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Oxidation state of wron 1n ferrocene

DEDS &S 06D 8838680 2.

Options :

- Zero
+3

2. %

3. ¢



Question Number : 19 Question Id : 7336879504 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the prosthetic group present in hemoglobin?
RIS S° &0l FHOE (rd.
Options :

Heme
1.v

Globin

Phosphoric acid
3. %

Lipoprotein
4. %

Question Number : 20 Question Id : 7336879505 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The following 1s process 1s accompanied by an increase in entropy

& 808 25 BS° oS DEHD.

Options :

n-Butane — cyclobutane

1. ®

Cyclobutane — n-Butane
2.¢

Freezing of water at 0°C
. 0°C 36 D6 DoDBBDAW.

Compression of gas mto a vessel
Jre3e5® TrosD oI



Question Number : 21 Question Id : 7336879506 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

McLafferty rearrangement 1s possible in
ROELPIY DOSOE BES” FEICIRD.

Options :
Acetone

2-Decanol

2. %

2-Octanone
3.

Benzene

Question Number : 22 Question Id : 7336879507 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Sodium Peroxide acquires yellow colour due to the presence
A*Eao DTFyGE DAY HTS SEEA.
Options :
Superoxide of sodium

1.

MgO

Oxide
3. %

K,0

4. %

Question Number : 23 Question Id : 7336879508 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The shape of CIF;
Cll:q ‘?_'9;3?3

Options :

Pyramudal



T-shaped

2.

Square pyramidal
3. %

Tetrahedron
4. %

Question Number : 24 Question Id : 7336879509 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Soft base among the following
808 T7S” B0y FEAW.

Options :
'8

1. %

&

OH

3.8

eN

4.

Question Number : 25 Question Id : 7336879510 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The key intermediate in the Arndt-Eistert reaction 1s
Armdt-Eistert tf)Cf'?S?SG ﬁ)é‘hé 002 20D SVEFR DTPGO.
Options :
a-Diazoketone

1.

Acid chloride
2. ®

Ketene



Diazomethane
4. %

Question Number : 26 Question Id : 7336879511 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following which has relatively more tendency to generate
carbanion

& 208 TIS” DB RV EBDAETD K0 G BL.

Options :

Acetaldehyde
1. ®

Acetylacetone
2.¢

Hexane-1.4-dione
3. %

Benzonitrile

Question Number : 27 Question Id : 7336879512 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The order of the pK;, values ot methylamine, N-methylamine and N,N-
dimethylamine 1s

G590, N-2o@e5e020, NN Go@e5eodno & pKy Dewde oo

Options :

N.N-dimethylamine > N-methylamine > Methylamine

1. ®

N-methylamine > Methylamine >N N-dimethylamine
2. ®

Methylamine > N.N-dimethylamine > N-methylamine
3.8

N.N-dimethylamine > Methylamine > N-methylamine
4.4



Question Number : 28 Question Id : 7336879513 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The peak with m/z value 91 observed in mass spectra of

sy ::aé%vaso GI0E), S°D DY D0 e5° m/Z 91 Dend S0,

Options :

Chlorobenzene

Benzylchloride

2.
Benzamide
3, %
Phenol
4. %

Question Number : 29 Question Id : 7336879514 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following pair has almost equal atomic and 10nic radu
& Sob D 2 DOATEVYHVE 28 T°[FGo 0.

Options :

Be and Mg

1. #

Na and K

Zr and Hf

3.9

Cu and Au

Question Number : 30 Question Id : 7336879515 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The unit of molar absorption coetficient is

Arerd Fies eago L), VITTTeD

Options :



L-molt-cm™
1L

Mol- L-cm™

L- cm. mol™
3. &%

L- mol- cm
4.%

Question Number : 31 Question Id : 7336879516 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which point group does a H-O molecule belong to?
H-0 c3og), FPa08S (76

Options :

Doy

1. ®

Csy

&8

Ds;

4. %

Question Number : 32 Question Id : 7336879517 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following solution has relatively high vapour pressure
& 208 °5° D TIPS WHOD TAE FOND S ey DAL

&0GON.

Options :

IM NaCl solution

y 0.5M Glucose solution
2. %



0.4M BaCl, solution

2M solution of solute undergoes dimerization
4. %

Question Number : 33 Question Id : 7336879518 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s aromatic

& 808 T°IS° IO 9T HFBE DAY Fdo

Options :

Cyclopropene
1. %

Cyclopropenyl anion
2. %

Cyclopentadienyl cation
3. %

Tropylium cation
4.9

Question Number : 34 Question Id : 7336879519 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

3%butyl methyl ether can be prepared by

3%-220365 B €56 DGy IS

Options :
The reaction of sodium tert-butoxide with methyl 1odide
J°c.omo 3° LETEE S0B803D FS ABTEE D6 S

1.

The reaction of sodium methoxide and tert-butyl 1odide

Jcobo DEgyE 80I 3%-2058S IBEEE G 36§

2. %



The reaction of tert-butylbromide with methane in presence of NaOH
NaOH 2a08065° 3722056365 ¢5'20&E a00050 B 06 w56

3.8

4. %
The reaction of tert-butylbromide with methyl 10dide 1n presence of NaOH
NaOH ©:08085" 3%-2205865 &5 20& 080 DoFeS e9d3rEé S0 96§

Question Number : 35 Question Id : 7336879520 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a paramagnetic molecule

$od T°S° DB o &) &S

Options :

N>

1. ® i

Ne,

2. %

O,
3. ¢

B

Question Number : 36 Question Id : 7336879521 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is chiral molecule
& 208 5°S5° D& BoeeS evgadad)

Options :

Ci1s-1,2-dichlorocyclopropane

Trans-1,2-dichlorocyclopropane
2.¥

Trans-1,3-dichlorocyclobutane
3%



cis-1,3-dichlorocyclobutane

Question Number : 37 Question Id : 7336879522 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a single-component general system, if degree of freedom 1s zero,
maximum number of phases that can co-exist

¢ w ', A R -, ' . ',
FLEes DE LOE SIS ¢&5° F=0 €:R) DD (180T €506 @_}éccge_) o2y
Options :

3

l.¢

Question Number : 38 Question Id : 7336879523 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following gives positive tests with 2,4-DNP and ,/NaOH
& 800 °0S° DB 2,4-DNP 08050 [/NaOH & e565e5” 32050

Options :

Benzophenone
1. %

3-Pentanone

Butanone
3.

Cyclohexanone

Question Number : 39 Question Id : 7336879524 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Among the following which is relatively more reactive with nucleophile in
Sy! reaction.

& 200 IS IO Sy! HOFES” HE ST TS DA S0,
Options :

Vinyl chloride
n-Propyl chloride
n-Butyl chloride

. Triphenylmethyl chloride

Question Number : 40 Question Id : 7336879525 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following colloidal system represents a gel?
& $00 Q) FQOEES 1Y BS O &rrvee.
Options :
Solid n liquad
G9:065° LOdAW
1. ®
Solid in gas
TPaI09)eS” 0D

Liquid mn solid
0H500e5° (390

3.¢

Liquid in gas
TPO306)ES” eI

PART B

Section Id : 733687179
Section Number : 2



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 60
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 733687214
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7336879526 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not included in the three tenets of cell theory?
Options :

. All organisms are composed of one or more cells
L.

All cells are structurally alike
2.¥

The cell 1s the basic organizational unit of life
3. %

All cells arise from preexisting cells

Question Number : 42 Question Id : 7336879527 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The middle lamella 1n plants 1s primarily composed of
Options :

Cellulose

1. %

Lignin
- Lipid

Pectins
W

Question Number : 43 Question Id : 7336879528 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In nucleosomal organization of chromatin, DNA 1s wrapped around histone
core which contains



Options :

o two each of H2A. H2B.H3, and H4

two each of H1, H2. H3. and H4

2. %

two each of H2A, H2B, H1. and H4

3.8

. two each of H2A. H2B. H3. and H1

Question Number : 44 Question Id : 7336879529 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The correct order of stages in prophase I of meiosis is
Options :

. Leptotene-zygotene-diplotene-diakinesis and pachytene
1.

- Leptotene-zygotene-diplotene-pachytene and diakinesis

Leptotene-pachytene- zygotene-diplotene and diakinesis
3. %

Leptotene-zygotene-pachytene-diplotene and diakinesis
4.9 e g

Question Number : 45 Question Id : 7336879530 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Monohybrid cross between heterozygous (Tt) tall and homozygous dwart
(tt) will lead to which of the following genotype ratio in F1

Options :
TETEH=121
1. %
TETeE k2]
2. %

v Ll T 1]

. L T 1021

4.

Question Number : 46 Question Id : 7336879531 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
Pair of alleles that govern a trait and remain together throughout the life of
an individual, are separated (or segregated) from one another during the
formation of the gametes, 1s an example of

Options :

Law of independent assortment
- Epistasis

Law of segregation
3.

, » Incomplete domimance

Question Number : 47 Question Id : 7336879532 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Barr body 1s an example of
Options :

1«% Facultative heterochromatin

Constitutive heterochromatin
2. &

- Facultative euchromatin

Constitutive euchromatin

Question Number : 48 Question Id : 7336879533 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the pair 1s incorrect?
Options :

Linkage- genes located on the same chromosome

Crossing Over- Chiasma formation



. Genetic distance- Centimorgan

. Color blindness- cAMP

Question Number : 49 Question Id : 7336879534 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A ladder-like structure composed of three parallel bars with many cross
fibers and holds each pair of homologous chromosomes i the proper

position to allow the continuation of genetic recombination between strands
of DNA i1s called

Options :

Chromatin

Synaptonemal complex
2.4 7

Nucleopore complex
3. %

Pilh
4. %

Question Number : 50 Question Id : 7336879535 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is true for holandric genes?
Options :

. They are found in the homologous region of X chromosome

l.

They are found in non-homologous regions of X chromosome
They are found in the homologous region of Y chromosome

y They are found in non-homologous regions of Y chromosome
4.+

Question Number : 51 Question Id : 7336879536 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following is incorrect?

Options :

Grifith--Transforming principle

Hershey- Chase—DNA carries genetic information

2. %
Avery, MacLeod and McCarty-- DNA 1is responsible for bacterial
transformation
3.
. C-value paradox—genetic distance
4.%

Question Number : 52 Question Id : 7336879537 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s true with respect to structure of double
stranded DNA?

Options :

., Linking number 1s mndependent of Twist

Linking number is independent of Writhe

- Lmking number is independent of Twist and Writhe both

., Linking number 1s dependent on Twist and Writhe both

Question Number : 53 Question Id : 7336879538 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which pentose sugar 1s present in DNA?

Options :

. » Alpha-D -Ribose
, » Beta-D -Ribose

2-Deoxy-Alpha-D-Ribose

3.4



2-Deoxy- Beta-D-Ribose

4. %

Question Number : 54 Question Id : 7336879539 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A circular double-stranded chromosomal DNA, lacking histone protein and
showing polycistronic nature of gene clusters with no introns may suitably

be a
Options :

Fungal genomic DNA

,  Eukaryotic amimal DNA

. Eukaryotic plant DNA

L Bacterial DNA

Question Number : 55 Question Id : 7336879540 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

DNA polymerase I of E. coli has
Options :

5'-3' polymerase, 3'-5' endonuclease and 5'-3' exonuclease activity

. 5'-3' polymerase, 3'-5' exonuclease and 5'-3' exonuclease activity
2.% i i

3'-5' polymerase, 3'-5' endonuclease and 5'-3' exonuclease activity

3'-5" polymerase, 3'-5' exonuclease and 5'-3 endonuclease activity

Question Number : 56 Question Id : 7336879541 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Regions of DNA with mverted repeats of base sequence having twotold
symmetry over two strands of DNA i1s called

Options :



palindrome
1Lv

syndrome
2. %

. promoter
3.

ternunator

Question Number : 57 Question Id : 7336879542 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Uracil-DNA glycosylase, AP endonuclease, Phosphodiesterase activity of
DNA polymerase 3 are part of
Options :

Viral DNA replication

Base Excision Repair
2. ¥

Rolling circle mechanism of DNA replication

Bacterial conjugation

Question Number : 58 Question Id : 7336879543 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

PIR 1s a
Options :

Gene bank

1. #

Seed bank
2. %

- Protein Databank

| Nucleotide databank

Question Number : 59 Question Id : 7336879544 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

BLAST m biomformatics usually stands for
Options :
- Basic Length Alignment System Tool

, » Basic Local Alignment Search Tool

. » Basic Logical Alienation Search Tool

, » DBiological Long Aptamer Search Tool

Question Number : 60 Question Id : 7336879545 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is true?

Options :

., Exons are residence of highly repeated sequences of DNA

, » Introns are residence of highly coding sequences of DNA

, , Centromere 1s residence of lughly repeated sequences of DNA

, » Centromere 1s residence of least repeated sequences of DNA

Question Number : 61 Question Id : 7336879546 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a disaccharide?
Options :

Mannose

- Lactose

Xylose

3. %

Fructose
4. %



Question Number : 62 Question Id : 7336879547 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a linear polymer of glucose mainly linked with
a(1—4) bonds?

Options :

. Cellulose

Inulin
Amylose

Pectin
4. %

Question Number : 63 Question Id : 7336879548 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The smallest amino acid usually present in proteins has
Options :

1 carbon atom

2 carbon atoms
2.

, » 3 carbon atoms

4 carbon atoms

Question Number : 64 Question Id : 7336879549 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Ramachandran Plot indicates about structural validation of
Options :
Lipids

1. ®

Nucleic acids
2. ®



L Proteins

Carbohydrates

4. %

Question Number : 65 Question Id : 7336879550 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Terpenes are composed of
Options :

Isoprene units
1.

Tertiary amines

Tertiary alcohols
3. %

Tricarboxylic acids
4. %

Question Number : 66 Question Id : 7336879551 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Fat soluble vitamuins are

Options :

. AB,D,K

1.

ACD K

2. %

B,D.E. K

3. %

AL E K

Question Number : 67 Question Id : 7336879552 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks :

Which of the following 1s found in ground nut and 1s monounsaturated
fatty acid?

Options :



. » Oleic acid
- Linoleic acid

Arachidonic acid

Stearic acid

Question Number : 68 Question Id : 7336879553 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Michaelis-Menton equation, Km 1s
Options :

[S] at Vmax

1. ®

[S] at Y2 Vmax
2.

. [S] at ¥4 Vmax

L [S] at 2 Vmax

Question Number : 69 Question Id : 7336879554 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In Uncompetitive inhibition

Options :
1. ®

The inhibitor does not bind to the enzyme-substrate complex, decreasing
only Km and not affecting Vmax

2. ®
The inhibitor binds only to the enzyme-substrate complex, decreasing only
Km and not affecting Vmax

3. %

The inhibitor binds only to the enzyme-substrate complex, decreasing only
Vmax and not affecting Km



4.9
The inhibitor binds only to the enzyme-substrate complex, decreasing both
Km and Vmax

Question Number : 70 Question Id : 7336879555 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a packet of 16 seeds 10 seeds have TT genotype and 6 seeds have tt

genotype. If a seed 1s sown at random, what 1s the probability that 1t 1s TT?

Options :

gV

'J

1. #

6/10

2.8

1016

5/16

Question Number : 71 Question Id : 7336879556 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following methods can be used to find the hydrodynamic size
of a protein?
Options :

, SDS-PAGE

Ion exchange chromatography
2. ®

Urea-PAGE

y Gel filtration chromatography
4. %

Question Number : 72 Question Id : 7336879557 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the hydrolytic product of sucrose (by invertase) is processed mn
glycolysis. what will be the net gain of ATP?



Options :

1L ATP

1. ®

2ATE
®

2.

4 ATP

3.¢¥

8 ATP

Question Number : 73 Question Id : 7336879558 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not true about agarose gel electrophoresis?
Options :
DNA is negatively charged in the acidic environment during
L electrophoresis
DNA is negatively charged in an alkaline environment during
electrophoresis

DNA binds with ethidrum bromide dye
3. %

e DNA migration 1s based on size, the smaller moves faster

Question Number : 74 Question Id : 7336879559 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In cation exchange chromatography the matrix (resin) contains
Options :

negatively charged functional groups that attract and bind positively

charged 10ns usually at pH above 1soelectric point
1. ®

positively charged functional groups that attract and bind negatively
, » charged 1ons usually at pH above 1soelectric point



negatively charged functional groups that attract and bind positively

y charged 1ons usually at pH below isoelectric point
3. i

positively charged functional groups that attract and bind negatively
charged 10ns usually at pH below 1soelectric point

Question Number : 75 Question Id : 7336879560 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

For reproducibility in fractionation using centrifugation, which of the

following information 1s sufficient?
Options :

. RPM. and duration

AU < . [ g
RPM. duration and temperature
2. ®

RCF and duration

3. %

RCF, duration and temperature
4.4

Question Number : 76 Question Id : 7336879561 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks :

Enzymatic oxidative deamination of amino acids in the liver and kidneys 1s

dependent upon
Options :

Oxygen, ATP
Oxygen, GTP

_ Oxygen, FAD

3.¢¥

FAD ATP

4. %

Question Number : 77 Question Id : 7336879562 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
Which one is true?
Options :
Tetracyclines are broad-spectrum antibiotics with four-ring nucleus and
. they bind to the small ribosomal subunit and mhibit protem synthesis

Members of the penicillin family contain a imidazole ring and disrupt
, » Dbactenal cell wall synthesis, resulting n cell lysis

Chloramphenicol is a narrow-spectrum, bacteriostatic antibiotic that
, » inhibits replication of DNA

4.%
Aminoglycoside antibiotics like streptomycin and gentamicin bind to the
larger ribosomal subunit and are bacteriostatic

Question Number : 78 Question Id : 7336879563 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The concept of spontaneous generation of living organism was challenged
by

Options :

Aristotle
1. ®

Francesco Redi
2. &

Socrates

Girolamo Fracastoro
4.%

Question Number : 79 Question Id : 7336879564 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks :

Credit for the discovery of blood groups goes to
Options :

.« Spallanzan



, » Beyernck
Landsteiner

L Louis Pasteur

Question Number : 80 Question Id : 7336879565 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Bacteria having a tuft of flagella at one end are called
Options :

. » Monotrichous

Amphitrochous
2. %

. ., Lophotrichous

Peritrichous
4. %

Question Number : 81 Question Id : 7336879566 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

An organism that has lost the ability to synthesize any specific organic
compound required for its growth, and 1t requires that compound to be
supplied 1n its environment for growth

Options :

. Amphipathic

e hemotrophic
2.

, » Auxotrophic

, » Lithotrophic

Question Number : 82 Question Id : 7336879567 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Epitope 1s



Options :
the region on an antibody that binds to an antigen

a flexible segment of the heavy chains located between the Fab and Fc

5 % Ieg1o1s

3. %
large molecule, often a protein, that 1s used to enhance the immunogenicity

of a smaller molecule

specific region on an antigen that an antibody or immune cell receptor

, » Tecognizes and binds to, triggering an immune response

Question Number : 83 Question Id : 7336879568 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s true about T cells?
Options :
They are never subjected to apoptosis are linked to evasion of long term

memory

They are initially formed in the bone marrow, but they mature in the

, , thymus

They are not dertved from hematopoietic stem cells
3. %

They help in the development of drug resistance 1n bacteria

Question Number : 84 Question Id : 7336879569 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the immunoglobulins 1s synthesized in early infection stage?

Options :

L= 186

IgE

2. 8



I[eM

3.9

IgA

4. %

Question Number : 85 Question Id : 7336879570 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

RNA polymerase III of eukaryotes 1s
Options :

.« RNA-dependent RNA polymerase which synthesizes tRNA

., DNA-dependent RNA polymerase which synthesizes tRNA

2. i

RNA-dependent RNA polymerase which synthesizes mRNA
®

3.

, » DNA-dependent RNA polymerase which synthesize mRNA

Question Number : 86 Question Id : 7336879571 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a method of transcriptional gene silencing?
Options :

18@ Antisense RNA

, » dsRNA synthesis
Promoter methylation

3.¥

L RNA interference

Question Number : 87 Question Id : 7336879572 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In the Lac Operon, the correct sequence of segments is
Options :

Promoter-Operator-galactosidase- permease-transacetylase
LY



Operator-Promoter-galactosidase-transacetylase- permease
2. %

Promoter-Operator-transacetylase- galactosidase-permease

Promoter-Operator-galactosidase-transacetylase- permease
4. %

Question Number : 88 Question Id : 7336879573 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In an open reading frame, if a nucleotide 1s deleted from the middle region,

1t will lead to
Options :

133 Shift of reading frame to the left, upstream to the point of deletion

i Shift of reading frame to the left, downstream to the point of deletion
2.

Shift of reading frame to the right, upstream to the point of deletion

v Shift of reading frame to the right. downstream to the point of deletion

Question Number : 89 Question Id : 7336879574 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following pairs 1s correct?

Options :

Single-strand cut and supercoil relaxing in DNA- Topoisomerase II

. Prokaryotic RNA polymerase- core enzyme + sigma factor
2.9 ? 5 =

. » Operator region- RNA polymerase binding

Pribnow Box- Initiation of translation

Question Number : 90 Question Id : 7336879575 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Stability, nuclear export and processing of Pre-mRNA 1n eukaryotes 1s

related to
Options :
3 ’polyadenylation

1. %

Presence of U instead of T

Single stranded form of pre-mRNA

5! ]
\ v m7G cap

Question Number : 91 Question Id : 7336879576 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not true about type II restriction endonucleases?
Options :

. They cut double stranded DNA close to or within a defined sequence

- They were 1dentitied in viruses while their genome was explored

3. %
Their tfrequency of cut in a random DNA can be calculated by formula 1 in
4" where n = number of nucleotides in recognition sequence

4.%
They usually recognize nucleotide sequences which are palindromic with
rotation symmetry

Question Number : 92 Question Id : 7336879577 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Tag DNA polymerase used in polymerase chain reaction exhibits

Options :
1. ®

5'-3" polymerase: 5'-3' exonuclease; 5'-3' exonuclease; 3' single A- tailing

5'-3" polymerase: 3'-5' exonuclease; 3' single A- tailing



g3 polymerase; 5'-3' exonuclease: 3' single A- tailing
3.9 i - -

4. ®

3'-5' polymerase: 5'-3' exonuclease; 5'-3' exonuclease; 3' single A- tailing

Question Number : 93 Question Id : 7336879578 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Acetosyringone 1s helpful in
Options :
18@ Physical gene transfer using electroporation

Physical gene transfer using gene gun
2.% 7

, » Agrobacterium mediated gene transfer

L Microinjection mediated gene transfer

Question Number : 94 Question Id : 7336879579 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following primers will have the maximum frequency of
complementary base pairing in a random template DNA in PCR during
RAPD?

Options :
v AGAGATTGA
- AGTTGACATAGA

- AATGGATGACACCG

, « AGGTAAAGTGCCCGGGGG

Question Number : 95 Question Id : 7336879580 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following vectors usually has the largest cloning capacity
Options :



Plasmid

Phagenud
2. %

i Lambda Phage

v Cosmud

Question Number : 96 Question Id : 7336879581 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the pairs is correctly matched?

Options :

Monoclonal antibody : multiple epitopes

L v Humulin : Recombinant biotherapeutic

. « Lagphase : doubling of the number n the generation time
Fermentation : Aerobic reaction

4.%

Question Number : 97 Question Id : 7336879582 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Organism used 1n citric acid production at the industrial level 1s

Options :

- Lactobacillus delbrueckii

Penicilliuim notatum
2. ®

- Rhizopus nigrificians

, v Aspergillus niger

Question Number : 98 Question Id : 7336879583 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following pairs is incorrect?

Options :
Yoghurt : Streptococcus thermophiliis
1. ®
Cheese - Lactococciis lactis
2.
- Curd - Lactobacillus
\ v Beer - Escherichia coli

Question Number : 99 Question Id : 7336879584 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is not true about Aspartic acid?
Options :

It 1s synthesized i two forms L-Aspartic acid and D-Aspartic acid
1. ®

, » It 1s essential amino acid synthesized m humans
Its derivative acetyl aspartic acid 1s used in cosmetics

, » 1t helps n liver detoxification

Question Number : 100 Question Id : 7336879585 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Production of Vitamin K2 m the industry is through this bacterrum
Options :

- Bacillus subtilis
. Xanthomonas citri

3 % Streptococciis

Pseudomonas putida



